

Ex. Obtain Lagrange's Interpolation formula in the form

$$f(x) = \sum_{r=0}^n \frac{\phi(x) f(x_r)}{(x-x_r) \phi'(x_r)}$$

where  $\phi(x) = (x-x_0)(x-x_1) \dots (x-x_n)$

Sol<sup>n</sup> First we prove Lagrange's Int. formula as

$$\begin{aligned} f(x) &= \frac{(x-x_1)(x-x_2) \dots (x-x_n)}{(x_0-x_1)(x_0-x_2) \dots (x_0-x_n)} f(x_0) \\ &+ \dots \\ &+ \frac{(x-x_0)(x-x_2) \dots (x-x_{n-1})}{(x_n-x_0)(x_n-x_1) \dots (x_n-x_{n-1})} f(x_n) \end{aligned} \rightarrow \textcircled{1}$$

Now, we are given

$$\phi(x) = (x-x_0)(x-x_1) \dots (x-x_n)$$

$$\Rightarrow \log \phi(x) = \log(x-x_0) + \log(x-x_1) + \dots + \log(x-x_n)$$

Differentiating w.r.t.  $x$ , we get

$$\frac{\phi'(x)}{\phi(x)} = \frac{1}{x-x_0} + \frac{1}{x-x_1} + \dots + \frac{1}{x-x_n}$$

$$\begin{aligned} \Rightarrow \phi'(x) &= \frac{\phi(x)}{x-x_0} + \frac{\phi(x)}{x-x_1} + \dots + \frac{\phi(x)}{x-x_n} \\ &= (x-x_1)(x-x_2) \dots (x-x_n) \\ &\quad + (x-x_0)(x-x_2) \dots (x-x_n) + \dots \\ &\quad + \dots + (x-x_0)(x-x_1) \dots (x-x_{n-1}) \end{aligned}$$

$$\therefore \phi'(x_0) = (x_0 - x_1)(x_0 - x_2) \dots (x_0 - x_n)$$

$$\phi'(x_1) = (x_1 - x_0)(x_1 - x_2) \dots (x_1 - x_n)$$

$$\phi'(x_n) = (x_n - x_0)(x_n - x_1) \dots (x_n - x_{n-1})$$

$$\therefore (1) \Rightarrow f(x) = \frac{(x-x_1)(x-x_2) \dots (x-x_n)}{(x_0-x_1)(x_0-x_2) \dots (x_0-x_n)} f(x_0)$$

+ ...

$$+ \frac{(x-x_0)(x-x_2) \dots (x-x_n)}{(x_1-x_0)(x_1-x_2) \dots (x_1-x_n)} f(x_1)$$

$$\Rightarrow f(x) = \frac{\phi(x)}{(x-x_0)\phi'(x_0)} f(x_0) + \frac{\phi(x)}{(x-x_1)\phi'(x_1)} f(x_1)$$

$$+ \dots + \frac{\phi(x)}{(x-x_n)\phi'(x_n)} f(x_n)$$

$$= \sum_{r=0}^n \frac{\phi(x)}{(x-x_r)\phi'(x_r)} f(x_r)$$

=====  $\alpha$  =====